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Quantum field theory



Particle physics : 2 ∼ 5 billions e/years
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reduction to the kinetic term

S(x)

= C + a1x + a2x2 + higher orders
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A 50 billion e trick
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1
2 (X ,AX )dx

< x > =

∫
xe−

1
2 (X ,AX )dx
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∂

∂Bi
e(B,X ) = xie

(B,X )
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Symmetries
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Symmetries
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Symmetries

AV = 0

A−1?
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Gauge fixed action

For example, if S = − 1
2 (X ,AX )

SF = −1

2
(X ,AX ) + i < λ,F (x) > + < c̄ ,Λc >

which is non-degenerate!!!!!!!!
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Where are we?

If S non-degenerate:

< Φ1(x) . . .Φn(x) >:=

∫
M

Φ1(x) . . .Φn(x)e−Sdx

Else :

SF non degenerate on MBRST :=M× Γ∗ × ΠΓ× ΠΓ∗.

∃?δ on Fun(MBRST )

H(Fun(MBRST )) ' Fun(M)?

Dependence on F ?
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